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1 2 X 1000MW E#A| FHRER —HTE Q=5.7t/h P=1.3 =380 Ps1.3 7220 P=4.0 1,=32.4

2 2X 1000MW El & FlFR £ m ) —# T4 Q=5. 4t/h P=1.37 t=374.2 P,~0.3 t,280 P=4.0 t,=32.4

3 2X 1000MW E & FlFi Ew ] —# T - Q=6t/h P=1.3  t=380 P=0.4 t~143 P=4.0 t,=32.4

4 2 X 1T00OMW 71 4 7 A 58 1Ly B 4 )~ = 2 Q=15t/h P=1.3  t=399 P,~=0.35 t,250 P=4.2 t,=50

5 2 X 1000MW A 4 75 4 2 Ly L 1 )~ — A Q=2.5t/h P=1.3 =399 P~0.8 =200 P=4.2 =50

6 2X 1000MW [E & X )1 )" =21 T 42 Q=40t/h P=1.26 t=379 P,=0.568 ,=290.9 P,=2.95 t,=34.6

7 2X 1000MW [E X 1| )~ = #1 T 42 Q=5. 4t/h P=0.8 t,=305-335 P,=0.3-0.8 t,=280-320 P,=3.2-3.5t,=34. 1
8 2X 1000MW [E X 1| )~ = #1 T 42 Q=7t/h P=0.65-1.2 t,=300-370 P,=0.525 t,=154 P,=3.2-3.5t,=34. 1
9 2 X 1000MW [ B X )| )~ = #7 T 42 Q=2t/h P=0.65-1.2 t,=300-370 P,=0.42 t,=145.4 P,=3.2-3.5t,=34. 1
10 Kb T m ol AR P T Q=88t/h P=3.82 t,=450 P,=0.49 t,~180 P,=5.9 t,=150

11 Ox350MW 4 gk b & B ) P Bk R T A2 Q=25t/h P=1.37 t,=300 P,~1.37 t,=200 P,=3.5 t,=67.63

12 2x350MW #F fE4b & ) B - T2 Q=2t/h P=1.37 t=300 P,~=0.3  t~180 P=3.5 t,=67.63

13 2x350MW £ EE4b & ) B - T2 Q=22t/h P=1.37 t,=300 P~0.5 t,=155 P=3.5 t,=67.63

14 2x350MW 4 gE 40 & B AL BR = T A2 Q=11t/h P=1.37 t=300 P~0.3 t,=200 P=3.5 t,=67.63

15 Bl THRE “EAEN HEIE Q=23t/h P=1.347 t,=385 P=0.5 MM & A t~1EFIEE P=4 t,747
16 2x660MW R EFF ML TEAXE B FEIE Q=20t/h P=1.117 t=371.1P=1.117 t,=250 P=1.9 t,=44

17 OxGE0MW R E M A TEFA X E L HEIRL Q=1t/h P=1.117 t=371.1P,=0.4 t,=250 P~=1.9 t,=44

18 2x660MW R EFF ML TEAXE B FEIE Q=1t/h P=0.28 t=450 P,=0.103 t,=150 P=1.9 t,=44

19 2X 1000MW #igk & —w " “FAEN" TH# Q=20t/h P=1.25 t,=378.4 P,=1.25 t,-250 P,=4.5 t,=49

20 2 X 1000MW # 4 [E 4 St e )~ Q=32t/h P=1.6 t,=390 P,=1.065 t,=374.6
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21 2X 1000MW A4 4 5 4 Z o B, - Q=32t/h P=0.6 t,=310 P,=0.544 t,=160

22 2 X 1000MW 744 [E] 4 & F )~ Q=8t/h P=1.6 t,=390 P,=1.065 t,=374.6

23 2 X 1000MW 744 [E 4 & F )~ Q=4t/h P=1.065 t,=390 P,=1.065 t,=300

24 2x660MW FTEEER L X E —H T2 Q=29t/h P=1.6 t,=375 P=0.4 t=152 P=3.0 t,=51

25 2x660MW FTIBER L E —H T2 Q=2.7t/h P=1.3 t,=375 P,=0.8 t,=195 P=3.0 t,=51

26 2x660MW T ER L X E —H T2 Q=10.5t/h P=1.3 t,=375 P=0.4 t~=180 P=3.0 t,=51

27 2x660MW #TEER LB —HITE Q=6.0t/h P=1.3 =375 P=0.4 t,=250 P,=3.0 t,=51

28 2x660MW [ &, % M & B A KA 5 Q=8-20t/h P,=2. 6-4. 2t,=280-320P,=1. 85 t,=210-220 P,=3. 5t,=165-180
29 2x600MW [ B, %5 [H B~ Q=19.5t/h P=1.06 t=373 P=0.35 t,=210 P=4.65 t,=50
30 2x480MW 4 B, VT A K kA #A . Bk 7= I B Q=129t/h P=4.911 t,=427.9 P=1.5 t,=300 P=4 t,=50

31 2x480MW 4 B, 7T R R MK A #h L BR 7= T E Q=35t/h P=1.55 t=312.7 P~=0.2 t,=160 P=4  t,=50

32 2x350MW # bt & B Q=25t/h P=1.37 t=350 P,~=1.27 t,=200 P,=3.5  t,=67.63
33 Ox350MW 4L BE# & B, Q=1.7t/h P=1.37 =350 P~=0.3  t,=180 P,=3.5 t,=67.63
34 2x350MW £ gE 48 & B Q=9.9t/h P=1.37 t=350 P,~=1.27 t,200 P=0.3  t,=67.63
35 2x350MW # bt & w ) Q=18.9t/h P=1.37 t=350 P~=0.5  t,=155 P,=3.5 t,=67.63
36 2x350MW 4 88 7 L) Q=19.37t/h  P=1.347 t,=385 P~=0.5  t,=155 P,=3.63 t,=47

37 2x350MW [ B L Q=120t/h P=4.0  t=566 P=3.1  t,=420 P=13  t,=180
38 2x350MW [ B F LB Q=120t/h P=4.0  t=566 P=1.5  t,=250 P=13  t,=180
39 Ox300MW [E 4% 4 o f8 JE 5 55 v, |~ Q=150t/h P=4.09 t=545 P~=1.6 t,=410 P,=10 t,=172

40 2x300MW [E 4% 4 o RE VR T 55 W) Q=150t/h P=1.6  t=410 P=1.6 t,=315 P=10 t,=172
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41 BN % BT I PT. GGP #v e, )~ Q=35t/h P=0.981 t=311 P~0.981 t,~179 P=6.0  t,<=104
42 EUE .76 T2 PT. GGP #hvee )~ Q=45t/h P=3.43 t=435 P,=0.981 t,=311 P=6.0  t,=104
43 FEAEREUEKIRE Q=70t/h P=3.82 t=450 P~=1.27 t,=250 P,=6.4  t,=104
44 FEAERENEATIRE Q=80t/h P=3.82 t=450 P~0.39 t,=200 P,=6.4  t,=104
45 FEAERENEKIRE Q=70t/h P=3.82 t=450 P~=1.27 t,=250 P,=6.4  t,=104
46 PR T B AR 4R Q=8t/h P=2.25 t=275 P,~=2.25 t,=190 P=5.5  t,=104
47 7 EHRLIARAF Q=120t/h P=9.8  t=540 P,=3.92 t,=440 P=15  t,=150
48 77 EAAI AR Q=50t/h P=9.8  t=540 P~1.37 t,=205 P=15  t,=150
49 7 BRAIARAF Q=40t/h P=1.37 t=195 P=0.5  t,=165 P=4.5 =150
50 77 E &AM I AR Q=50t/h P=1.37 t=325 P~1.35 t,=2.5 P=4.5 t,=150
51 rYEHEMES Q=60t/h P=3.43 t=430 P~=1.7  t,200 P=6.0  t,=104
52 TH EmW Q=130t/h P=9.81 t=540 P,=0.98 t,=270 P,=6.0  t,=104
53 TH EmW Q=80t/h P=5.29 t=485 P~=1.27 t,=250 P=6.0  t,=104
54 A S B4R E B R Q=25t/h P=10 t=540 P,=0.98 t,=290 P=14.0 t,=160
55 REBR G A B Fv 4 F] Q=40t/h P=3.82 t=450 P~=2.4  t,=400 P=7.2  t,=104
56 TEF VEREREET KA ER A Q=90t/h P=9.8  t=540 P,=0.98 t,=280 P~=14.4 t,=158
57 rYEHEMES Q=60t/h P=3.8  t=450 P~=2.4  t,230 P=5.0  t,=104
58 A E LA Tt Q=80t/h P=5.29 t=485 P,=1.27 t,=280 P=7.2  t,=104
59 AR AR R A IR A E] Q=100t/h P=9.81 t=540 P~=1.0  t,=250 P~=16 t,=158
60 K HRE (H2X) FRAF Q=80t/h P=9.81 t=540 P,=0.981 t,=210 P=7.2  t,=104
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61 HZE A Q=10t/h P=1.3  t=285 P~=0.8 t,=180 P=2.6  t,=60
62 HZEHmE Q=2t/h P=1.3  t=285 P~=0.8  t,=180 P=2.6  t,=60
63 FEAEREUEKIRE Q=80t/h P=3.82 t=450 P,=0.39 t,=200 P,=6.4  t,=104
64 FEAERENEATIRE Q=30t/h P=1.27 t=250 P~=0.6  t,~=170 P=6.4  t,=104
65 HBEBM T ATG N Q=47t/h P=1.28 t=290 P=0.15 t,=150 P=1.0  t,=104
66 FEEEAEGH ) Q=34t/h P=1.28 t=290 P~=0.59 t,200 P,=6.0  t,=158
67 Fe 78 B L AR 4K Q=40t/h P=3.82 t=450 P~=1.6  t,=250 P=5.5  t,=104
68 RE AR A RE T Q=40-150t/h P=1.46 t,=345 P,=1.46 t,=290 P,=8.0  t,=104
69 RE$s A RE T Q=80t/h P=5.3  t=485 P~=1.46 t,=290 P,=8.0  t,=104
70 182 o R E N E Q=30t/h P=10.0 t=540 P~=1.0  t,=290 P,=14.0 t,=160
71 KRBYRNER Q=50t/h P=9.8  t=540 P~1.27 t,=250 P,=15.1 t,=158
72 wEGANTEAFRAE Q=25t/h P=3.9  t=450 P~2.5  t,=260 P,=5.0  t,=104
73 wEGANTEAFRAE Q=80t/h P=5.29 t=485 P~=1.27 t,=280 P=6.0  t,=104
74 TEERMTARAF Q=100t/h P=5.4  t=535 P~=0.5  t,=250 P=1.0  t,=158
75 TERERNMIARNE Q=140t/h P=9.8  t=535 P,=0.98 t,=302 P=6.0  t,=104
76 WL R 7 AR R R PR ] Q=0. 55t/h P=5.29 t=485 P,=3.92 t,=270 P~=14 t,=104
77 T EE VG 0 R VR L IT RO PR/ Q=100t/h P=9.8  t=540 P~=0.98 t,=250 P=1.5  t,=104
78 MEEE A Q=120t/h P=5.6  t=485 P,=0.29 t,=210 P=1.2  t,=100
79 GrEEIRE N BB Q=50t/h P=10 t,=540 P~1.0  t,=300 P,=14 t,=158
80 LR B B s = o 8 IR R TR & Q=40t/h P=0.98 t=450 P~=0.98 t,=263 P,=8.0  t,=104
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81 HRRBRERER Q=50t/h P=10 t,=540 P~1.0  t,=300 P,=14 t,=158
82 HARBRAERESR Q=120t/h P=10 t,=540 P,=1.27 t,=350 P,=8.0  t,=105
83 NEERBAR Q=80t/h P=9.81 t=540 P,=0.49 t,=240 P=15 t,=158
84 L7 At PR Q=200t/h P=9.8  t=540 P,=0.98 t,=300 P,~=16.4 t,=104
85 PRV HL A 4R KR IR A E] Q=24t/h P=9.8  t=540 P,~=1.47 t,=227 P=7.85 t,=104
86 Bk VG B, A KA IR Q=80t/h P=9.8  t=540 P,=1.47 t,=227 P~=7.85 t,=104
87 PRV A % # A TR Q=50t/h P=9.8  t=540 P,=0.98 t,=302 P=8.0  t,=104
88 T KB ERIENAERA Q=120/h P=9.8  t=540 P,~=1.37 1,280 P=15.1 t,=158
89 T KB E R IER R Q=40t/h P=3.82 t=450 P~0.49 t,=200 P,=6.0  t,=104
90 T KB ERIENAERA Q=140t/h P=1.27 t=350 P~=1.27 t,=180 P=6.0  t,=104
91 1L 75 o B BA R T R R PR A B Q=20t/h P=3.43 t=435 P~0.98 t,=305 P,=6.4  t,=180
92 W ARAE M A K Q=80t/h P=3.82 t=450 P,=0.98 t,=200 P,=6.4  t,=104
93 KR BENR Q=78t/h P=12.1 t=450 P=1.27 t,=250 P=3.0  t,=25
94 LR R A IR Q=100t/h P=9.8  t=540 P~=0.98 t,=250 P,=8.0  t,=100
95 KRB E EWMKA R Q=2t/h P=3.82 t=450 P,=0.98 t,=250 P,=6.0 t,=104
96 WL R 7 AR R R PR ] Q=80t/h P=5.29 t=485 P,=0.98 t,=270 P,=15.2  t,=150
97 L B B = o &8 A IR A Q=40t/h P=3.9  t=450 P~=3.9  t,=250 P,=6.0  t,=104
98 LR H B s = o &5 A FR A ] Q=40t/h P=5.29 t=485 P,=0.98 t,=250 P,=8.0  t,=158
99 & REETEIM Q=120t/h P=9.8  t=540 P~1.27 t,=300 P~=15.1 t,=158
100 W RIFIREL Q=40t/h P=3.98 t=450 P~0.75 t,=250 P,=6.0  t,=104
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101 o E AR R &2 P ] Q=20t/h P=1.27 t=305 P~1.27 t,=230 P,=6.0  t,=104
102 B E LA R &2 O R ] Q=5t/h P=3.82 t=450 P~=0.5  t,=160 P=5.88 t,=104
103 WX G 5T HEHRAE Q=120t/h P=3.25 t=425 P,~=0.6  t,=210 P=6.0  t,=104
104 SES-REN RS (WA Q=170t/h P=3.25 t=425 P~1.27 t,=210 P=6.0  t,=104
105 BRIEME (REEB) AR Q=2t/h P=3.82 t=450 P,=0.98 t,=250 P,=6.0  t,=104
106 KRB EWHKA R Q=60t/h P=3.82 t=435 P~=0.98 t,=270 P,=15.2 t,=150
107 KRB EWHKA R Q=40t/h P=3.9  t=450 P~=1.27 t,=250 P,=6.0  t,=104
108 BALEH B A PR EA R Q=40t/h P=5.29 t=485 P,~=0.98 t,=250 P,=8.0  t,=158
109 WALEH B AP A IR A Q=80t/h P=9.8  t=540 P~1.27 t,=310 P=15.1 t,=158
110 WEEEE AWML TRGARAF Q=110t/h P=9.8  t=540 P,=3.92 t,=450 P=14 t,=104
111 12 M| 5 79T A e PR Q=80t/h P=5.29 t=485 P~=0.98 t,=300 P,=8.0  t,=104
112 1N AR P B LR PR A ] Q=0. 55t/h P=5.29 t=485 P,~=0.3  t,=300 P=8.0  t,=104
113 FHE o E R A Q=40t/h P=3.9  t=450 P,=0.8 t,=180 P,=5.5  t,=104
114 F 5 B O A Q=20t/h P=2.25 t=275 P~=2.25 t,=190 P=5.5  t,=104
115 Bk VX A A B R PR A ] Q=50t/h P=3.9  t=450 P,=0.49 t,=taf P=6.4  t,=104
116 FETHEAKERAMNEFRFTELF Q=18t/h P=4.0  t=435 Ps=1.4  t,=350 P=17 t,=200
117 RE W AR B R AR FTEAL Q=18t/h P=4.0  t=435 P~=2.0  t,=350 P=17 £,=200
118 TE4Z I HEFRA Q=60t/h P=3.92 t=425 P~1.3  t,=250 P=6.0  t,=104
119 BN R 77 e H IR Q=80t/h P=5.29 t=485 P,~=1.27 t,=250 P=6.0  t,=104
120 BN R 77 e H IR Q=0.55t/h P=0.05 t=470 P,~=0.05 t,=250 P=0.6  t,=45
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121 WL AR & S A e A R A ] Q=60t/h P=5.2  t=485 P,~1.27 t,=230 P=8.0  t,=104
122 WL 7R & 4T E e A IR ] Q=80t/h P=5.2  t=485 P,=0.785 t,=230 P=8.0  t,=104
123 FETHEAKERAMNEFRFTELF Q=60t/h P=3.82 t=450 P,=2.0  t,=300 P=6.0  t,=104
124 Wl R IE fn e A IR ] Q=150t/h P=5.29 t=435 P~1.27 t,=270 P,=6.0  t,=104
125 WL R SR A R ] Q=100t/h P=1.47 t=323 P,=0.294 t,=180.9P=17 t,=158
126 W AREE R EAR A F Q=100t/h P=9.81 t=540 P,=1.47 t,=323 P~=17 t,=158
127 FE A A S AR E Q=10t/h P=3.82 t=450 P~=1.0  t,=260 P,=6.0  t,=104
128 ERBIFENR) Q=80t/h P=9.8  t=540 P,=0.98 t,265 P,=2.9  t,=300
129 REA % H 25 1 48 o A IR 5T A2 Bl A L Q=130t/h P=9.8  t=540 P=7.0  t,=300 P=15 t,=158
130 MM B R Q=30t/h P=1.1  t=187 P~=0.7  t,=170 P=1.8  t,=104
131 HEMEMARAFERE Q=3.6-18t/h P=3-6  t,=20 P,=0.8-1.73 t,=20

132 NEEABEEH Q=15t/h P=3.82 t=435 P~=0.5  t=tEfP=6.1  t,=104
133 W78 2 e E AT R Q=80t/h P=3.82 t=450 P,=0.98 t,=305 P=4.0  t,=104
134 W7 4 o 7 ER AR AR TR Q=50t/h P=3.43-3.9 t,=450 P,=0.4-0.5 t,=248 P,=6.0  t,=104
135 RE 3 A b & B A $ M7 #F 0 Q=60t/h P=5.29 t=485 P,=0.98 t,=300 P=7.4  t,=104
136 WL R I Au e A IR Q=50t/h P=5.29 t=435 P~=2.5  t,=280 P=7.0  t,=104
137 FiE e v A IR Q=100t/h P=9.8  t=540 P~=0.98 t,=250 P,=14.4 t,=158
138 ETEFT VW ERBN—FEY ) Q=80t/h P=9.81 t=540 P,=0.98 t,=275 P~=15  t,=158
139 RET A ER )\ — g ) Q=6-15t/h P=9.81 t=540 P~=1.7  t,=320 P=15  t=158
140 HEFT WV ER )\ — 5 o Q=1.0t/h P=9.81 t=540 P~=1.2  t,=250 P=15  t,=158
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141 LR B B R = &8 R i A TR E] Q=100t/h P=9.8  t=525 P~=1.0  t,=210 P,=10.0 t,=104
142 KEARER AR Q=80t/h P=3.82 t=450 P,=0.39 t,=200 P=6.4  t,=104
143 TR ERLY Q=40t/h P=3.9  t=450 P~=1.3  t,=200 P=5.0  t,=105
144 TR LY Q=25t/h P=3.9  t=450 P~1.3  t,=200 P=5.0  t,=105
145 FT e Q=0.55t/h P=0.05 t=470 P,~=0.05 t,=250 P,=0.6  t,=45
146 LR F = WA ERA A IR F Q=4t/h P=1.37-15t=435 P,=0.76 t,=300 P=4.5  t,=50
147 LT =& A RAE Q=150t/h P=2.45 t=225 P=1.27  t,=225

148 WARF S Ew Q=60t/h P=3.82 t=450 P,=0.98 t,=300 P=6.0  t,=104
149 LR e A IR Q=100t/h P=9.8  t=540 P~=0.98 t,=250 P,=8.0  t,=100
150 LW AREREATRAHRAE Q=100t/h P=9.8  t=540 P=1.3  t,=300 P=15 t,=150
151 LWARAANTIEHX &+ it T2 Q=60t/h P=9.81 t=540 P~2.3  t,=370 P=15 t,=150
152 LWARAAMTEX &+ i T2 Q=200t/h P=9.81 t=540 P~1.3  t,=310 P=15 t,=150
153 LWABEEEAFR Q=180t/h P=9.8  t=540 P,=0.98 t,=272 P=15 t,=158
154 L R EFET A IR F Q=80/h P=9.81 t=540 P~=1.3  t,=300 P=15 t,=158
155 R RT A IR Q=80/h P=9.81 t=540 P,=0.49 t,=215 P=15 t,=158
156 oy LB ABARITE ) Q=100/h P=9.81 t=540 P,=2.6  t,=350 P=15 t,=158
157 o L EEAFRTE Q=60/h P=9.81 t=540 P~=1.0  t,=300 P=15 t,=158
158 oy LB A BARITE ) Q=1/h P=9.81 t=540 P,=0.5  t,=200 P,=0.94  t,=55
159 Wb AR N IR AL T K & Q=80t/h P=5.29 t=485 P~=0.98 t,=300 P=7.2  t,=104
160 W 2R R AR 7 s A PR A E Q=40t/h P=3.82 t=450 P,=0.65 t,=250 P,=6.0  t,=104
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161 B8 B BB IR TT R R PR A ] Q=50t/h P=9.8  t=540 P~1.27 t,=300 P~ 15  t,=158
162 B kL BB IR TT AR IR A E] Q=60t/h P=9.8  t=540 P,=0.686 t,=254 P~ 15  t,=158
163 L& B B &% A IR % HE A Q=50t/h P=9.81 t=540 P~=1.0  t,=300 P~=16.4 t,=158
164 W 4B A TR F Q=71.31t/h  P=0.64 =258 P,=0.59 t,=215 P=12.0 t,=150
165 R RT A IR Q=50t/h P=1.33 t=360 P~=1.30 t,=300 P,=12.0 t,=150
166 1l R 4 2 e N ] Q=80t/h P=5.29 =485 P~=1.27 t,=250 P=6.0  t,=104
167 FHEENVTHRAF Q=5t/h P=2.5  t=400 P~1.0  t,=200 P,=6.0  t,=104
168 A=A & A PR A F] Q=55t/h P=0.685 t=278 P,=0.685 t,=180 P=1.0  t,=90
169 A6 = A £ B A PR A F] Q=28t/h P=0.685 t=278 P,=0.685 t,=180 P=1.0  t,=90
170 AL = FI £ H A R A F Q=80t/h P=5.29 =485 P~=0.685 t,=278 P=7.2  t,=150
171 B K RAF IE AN Q=25t/h P=1.2  t=250 P~=0.45 t,~155 P=1.3  t,=105
172 FEARAETEANT Q=6.3t/h P=1.2  t=250 P~=0.6  t,=165 P=1.3  t,=105
173 E K RMAFETENF Q=22.2t/h P=4.5  t=450 P~=2.5 = t,=230 P=4.3  t,=105
174 B K RAF IE AN Q=28.2t/h P=1.2  t=250 P,=0.45 t,=165 P=1.45 t,=104
175 FEARAFTEANT Q=7.66t/h P=4.5  t=450 P~=4.0  t,=260 P,=4.8  t,=104
176 FEARLFEIENE Q=2.5t/h P=1.2  t=250 P~=0.5  t,=158 P,=5.2  t,=110
177 P E AR TAENE Q=2.4t/h P=4.5  t=450 P~=1.05 t,=185 P=5.2  t,=110
178 W 7R F 3 2 ] B R A R IR ] Q=80t/h P=9.81 t=540 P,=0.98 t,=275 P=15 t,=158
179 TR L & F A TR E Q=15t/h P=1.257 t=303 P=1.257 t,=194 P=1.87 t,=40
180 R A7 & /N Q=85t/h P=1.1  t=330 P=1.1  t,=240 P=7.0  t,=105
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181 Ae&H Q=3.5t/h P=1.4  t=270 P~=1.2  t,=191 P=1.8  t,=32
182 KAEH Q=2.5t/h P=1.2  t=191 P~=0.4  t,~=151 P=1.8  t,=32
183 KAEH Q=23. 3t/h P=1.4  t=270 P~1.2  t,~=191 P=1.8  t,=32
184 Ae%H Q=17.8t/h P=1.2  t=191 P=0.4  t,=151 P=1.8  t,=32
185 Ae%H Q=3.15t/h P=1.2  t=191 P=0.4  t,=151 P=1.8  t,=32
186 ZHEFATAHRAF Q=40t/h P=3.82 t=450 P~=1.27 t,=230 P=4.5  t,=100
187 ZRHEFRMTARAE Q=80t/h P=5.29 t=485 P~1.27 t,=280 P=7.2  t,=104
188 ZRHEFRMTARAFE Q=60t/h P=1.35 t=350 P~=1.35 t,=250 P,=4-6  t,=104
189 LRI AN TR R A Q=80t/h P=5.29 t=485 P~1.0  t,=300 P=7.0  t,=150
190 TEHBEZVARAF Q=80t/h P=3.5  t=450 P~=1.0  t,=260 P=6.0  t,=104
191 NZHEEikem (EF) HRAF Q=120t/h P=1.3 =220 P~=0.85 t,=220 P=5.88 t,=127
192 NZHEoiken (EF) HRAF Q=150t/h P=1.3  t=345 P~=0.85 t,=220 P=6.4  t,=104
193 Wy 75 2 BF SR BE Bl A TR ] Q=100t/h P=10 t,=540 P,=0.98 t,=246 P~=14 t,=178
194 L7 &AL R A IR Q=20t/h P=4.0  t=400 P,~=2.9  t,234 P=6.0  t,=104
195 - & =l N Q=5t/h P=2.9  t=234 P=0.7  t,=234

196 FTERX AR EEAN Q=2t/h P=3.9  t=450 P~=1.0  t,=210 P=6.4  t,=104
197 L RS 4E A R F Q=100t/h P=1.0  t=220 P~=0.5  t,=159 P=1.6  t=110
198 AT Q=35t/h P=3.82 t=450 P~=0.5  t,=180 P=5.9  t,=104
199 LWARAANTIEHX &+t T2 Q=100t/h P=1.2  t=300 P~=0.52 t,=170 P=2.1 t,=68
200 TFTEE2RA TV AR Q=20t/h P=1.2  t=300 P~=0.6  t,=180 P=2.0  t,=90
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201 LR B R Q=100t/h P=10 t=540 P,=1.0  t,=320 P=15 t,=158
202 I i F Y Q=25t/h P=3.9  t=450 P~=1.3  t,=200 P=5.0  t,=105
203 I A % KRS Q=5t/h P=3.98 t=450 P~2.5  t,=250 P,=6.0  t,=104
204 27 aH AR A Q=25t/h P=1.1 t,=270 P=0.4  t,=165-175 P,=1.4 t,=40
205 L7 4L el A IR ] Q=70t/h P=3.82 t=450 P~=1.27 t,=250 P=6.4  t=104
206 L7 FE & &AL A IR Q=80t/h P=5.29 =485 P~=0.98 t,=300 P=7.2  t,=104
207 1L 79 #A 9 & e, Q=80t/h P=5.29 t=485 P~=0.98 t,=250 P=7.2  t=104
208 1) 75 2% B e A IR ] Q=60t/h P=3.82 t=450 P~=1.0  t,=280 P=6.4  t,=104
209 0 A A TR ] Q=130t/h P=9.82 t=540 P,=3.82 t,=450 P~=13.7 t,=158
210 WHR K AN A RN F Q=80t/h P=5.3  t=485 P~=0.98 t,=200 P=7.2  t=104
211 WA R T X & i T2 Q=30t/h P=1.2  t=300 P=1.2  t,=200 P=2.1 t,=68
212 L AR BB T A R A ] Q=8t/h P=4.9  t=470 P~=4.6  t,=260 P,=6.3 = t,=104
213 & T & F B A R F Q=4.577t/h  P=8.83 =535 P,=4.8  t,=465 P;=6.3  t,=180
214 &P T & B R PR & Q=20t/h P=1.0  t=194 P=0.5  t~=tif P=2.9  t,=105
215 €V T BB R A R Q=75t/h P=2.5  t=225 P=1.0  t=fEf P=2.9  t,=105
216 LWHReFRBEFRE Q=5t/h P=1.2  t=260 P~0.8  t,2=170 P=1.5  t=25
217 L& FRERRAE Q=3t/h P=1.8-2.2t,=330-360 P,=1.1 t,=210 P=1.8  t,=40
218 WL 78 38 N & Q=14t/h P.=2.0-3.9t,=215-250 P,=0.7 t,=180 P=4.5 t,=105
219 WL 7 8 ] R & Q=20t/h P=3.45 t=450 P=3.0  t,=234 P=4.2 t,=105
220 R R AR K R A PR Q=0.5-4t/h  P=1.27  t,=220-230 P,=0.5-0.9 t,=158 P,=1.5 t,=40
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221 LWARREN I RMAAHRAE Q=100t/h P=1.2  t=300 P=0.52 t,=170 P=2.1  t,=58-68
222 ST A R R A R E] Q=120t/h P=5.29 t=485 P,=0.98 t,=300 P=7.2  t,=104
223 Il EE R KRR R E] Q=120t/h P=0.981 t,=270-305 P,=0.981 t,=ftAfr P=7.2 t,=104
224 ST m e R KRR IR ] Q=80t/h P=5.29 t=485 P,=0.981 t,=300 P=7.2  t,=104
225 JTREIL R R K R AR Q=80t/h P=0.981 t,=270-305 P,=0.981 t,=fAfr P= 7.2 t,=104
226 AR & B E T REA R F Q=230t/h P=9.8  t=540 P,=4.02 t,=450 P=15 t,=158
227 =7 5 A 4 ] AL PR F Q=3-10t/h P=1.0  t=180 P~0.6  t,=180

228 T F A R E Q=30t/h P=0.9  t=260 P,~=0.6  t,~=180 P=2.0  t,=85
229 EXWHEENHE RN Q=30t/h P=1.3  t=190 P~0.6  t,=180

230 Z T F A R E Q=80t/h P=0.981 t=266 P,=0.981 t,=195 P=6.0  t,=104
231 W 7R B o 3 B A TR Q=80t/h P=5.3  t=485 P~=0.98 t,=285 P=7.8  t,=104
232 HEZ = EE VAR E Q=60t/h P=0.98 t=260 P,=0.98 t,=300 P,=6.5-7.5 t,=120-150
233 HEZ = EE VAR E Q=40t/h P=0.35 t=200 P~=0.35 t,=150 P~=1.2  t,=30
234 H R =R = 5E A PR Q=30t/h P=1.1  t=300 P~=1.1  t,=200 P=1.9  t,=30
235 WARHAEA R I Q=0.3-1.8t/h P=0.5-0.7t,=180-220 P,=0.5 t,=fifr P=1.4  t,=40
236 BEwHA~ L EXERFQ Q=60t/h P=3.82 t=450 P~0.6  t,=190 P,=6.0  t,=104
237 LFREsER Q=30t/h P=2.0  t=400 P~=0.9  t,=200 P=5.0  t,=104
238 WL R An e A IR Q=150t/h P=1.0  t=350 P~=1.0  t,=260 P=6.8  t,=104
239 AR N—REFERRAE Q=5-25t/h P=9.8  t=540 P~2.1  t,=300 P,=15.2 t,=158
240 RER/REE T HE A PR A F Q=17.5t/h P=2.0-3.9t,=215-250 P,=0.7 t,=180 P=4.5  t,=105
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241 FEF—HIA R Q=15t/h P=3.5  t=310 P~l.7  t~f#f P=2.2  t,=40
242 FEF—HRIA R Q=25t/h P=1.0  t=260 P=1.0  t=ff P=1.5  t,=40
243 REN—8) Q=120t/h P=9.8  t=540 P,=0.98 t,=280 P,=15 t,=158
244 ERNIRBAERAGEMTI 4N E Q=50t/h P=0.2  t=170 P=0.2  t=ff1 P=0.9  t,=25
245 ERUIRODERAAENTI =40 E Q=1t/h P=9.3  t=540 P~0.8  t,=230 P=1.3 t,=45
246 2 EmAE Q=160-180t/h P=9.3  t,=535 P,=3.82 t,=435 P=14 t,=155
247 PRV AR FAMTHRA E Q=45t/h P=3.82 t=450 P,=0.981 t,=200-220 P,=6.0 t,=104
248 HERFATARNE Q=50t/h P=8.83 t=540 P~=1.8  t,=360 P=14.6  t,=158
249 HER AT A R E Q=70t/h P=8.83 t=540 P~=0.7  t~=170 P=14.6  t,=158
250 HEFFAT AR E Q=80t/h P=1.8  t=360 P~=1.8  t,=210 P=14.6  t,=158
251 HER AT AR E Q=80t/h P=0.7  t=273 P=0.7  t~=170 P=14.6  t,=158
252 WL 78 e K 4B A IR Q=20t/h P=0.8  t=260 P,=0.2-0.5 t,=160 P,=6.0  t,=104
253 WL 78 e K 4B A IR Q=35t/h P=3.82 t=450 P~0.8  t,=190 P,=6.0  t,=104
254 LR et TA R A E Q=30t/h P=3.0  t=400 P~=2.0  t,=t&f P=3.0  t,=104
255 WHERKXEA SR B AEMATRN Q=5t/h P=2.5  t=400 P~=0.6  t,=170 P=4.0  t,=105
256 HBNEEATHRAF Q=8t/h P=3.3-3. 4t,=420-430 P,=1.5 t,=210-220 P,=6.0 t,=104
257 G TR R KA F Q=40t/h P=1.0  t=200 P~=0.5  t,=165 P=1.7  t,=40
258 I 7 % R PR 8] Q=50t/h P=3.82 t=450 P,=0.785 t,=200 P,=6.0  t,=104
259 MAERKERERRFTELE Q=2-20t/h P=3.82 t=450 P,=1.5-1.6 t,=230-240 P,=6.0 t,=104
260 KREBTEEMFFRALE Q=4t/h P=1.3  t=230 P=0.8  t,=185 P=2.0  t,=20
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261 AR E A #RA R Q=200t/h P=9.81 t=540 P~=1.3  t,=310 P=15 t,=150
262 WRREATRG AR Q=30t/h P=1.2  t=300 P=1.2  t,=200 P=2.1  t,=58-68
263 W R e E A R Q=20-60t/h  P=1.6 =360 P~=1.6  t,=260 P=6.5  t,=104
264 PREREN Q=80t/h P=1.3 t,=220 P,=0.9 t,=180 P,=1.7 t,=40
265 L A IR F Q=130t/h P=9.81 =540 P~1.28 t,=300 P=17.1 t,=158
266 HE T WA A PR E] Q=70t/h P=9.81 t=540 Ps=4.1  t,=450 P= 17.1 t,=158
267 HE T WA A PR E] Q=4t/h P=1.28 =300 P~=0.4  t~=143.6P= 1.3 t,=20
268 HTHE K 2 eE IR A IR F Q=110t/h P=2.11 t=450 P~=1.5  t,=203 P=2.5  t,=40
269 HBAALTREHRANE Q=40t/h P=1.5  t=200 P~=0.5  t=165 P=2.5  t,=40
270 ETET VW ERN—FEY ) Q=80t/h P=9.81 t=540 P,=0.98 t,=275 P~=15  t,=158
271 REFT WV ER N\ — 5 o Q=6-15t/h P=9.81 t=540 P=1.7  t=320 P=15  t,=158
272 ETETVERBN—FEy ) Q=1.0t/h P=9.81 t=540 P~=1.2  t,=250 P~=15  t,=158
273 FN BB LA IR F Q=140t/h P=9.81 t=540 P,=0.875 t,=190 P~=15 t,=158
274 M 4B4E LA PR A F] Q=50t/h P=9.81 =540 P~1.73 t,=333 P=15 t,=158
275 M4 LA PR A E] Q=30t/h P=9.81 t=540 P=3.57 t,/425.7 P,=15  t,=158
276 FM BB LA IR Q=240t/h P=6.5  t=500 P=6.5  t,=310 P~=15 t,=158
277 FM 484 A PR A F Q=190t/h P=0.785 =267 P,=0.785 t,=190 P=15 t,=158
278 M4 LA IR A E] Q=120t/h P=9.81 =540 P,=6.5  t,=310 P=15 t,=158
279 KK P Dok | 5 %A F F T E Q=50t/h P=2.45 t=400 P~=0.8  t,~=171 P=4.0  t,=104
280 o N O 7 A T e D = Q=80t/h P=2.45 t=400 P,=0.8  t,=171 P=4.0  t,=104




I 73 B vl R ] LR R PR F
Y E A B (4 b 42 5%)

F5 il X % ¥

281 RERFE R0 B % 5 5% 6 F| f 5UE Q=52t/h P=0.692 t,=270.2P,=0.692 t,=165 P=4.0  t,=104
282 MEAFE (RX) ARAE Q=39.9t/h P=3.8  t=400 P,=3.75 t,=250-260 P,=5.79 t,=108
283 FEAFE (X)) ARAE Q=9.6t/h P=1.0  t=250 P,=0.96 t,=185-195 P=5.79 t,=108
284 FEAFE (RX) ARAFE Q=74.5t/h P=0.4  t=198-204 P,=0.4 t,=153-163 P,=1.89 t,=108
285 FEAFE (RX) ARAE Q=28.9t/h P=0.4  t=198-204 P,=0.18 t,=130-140 P,=1.89 t,=108
286 3 At 229 5 A T ORHE PR A E Q=30t/h P=0.5  t=210 P~=0.5  t~=160 P=1.5  t,=104
287 L% IF fudh i 4 TR\ 5] Q=150t/h P=1.27 t=297 P~=1.27 t,=240 P=7.2  t=104
288 TITTEE B K 20 Fob /44 LA 2k T Q=16t/h P=1.2  t=210 P~=0.9  t,~=175 P=2.6  t,=104
289 WL AR Bk B T R A IR E] Q=140t/h P=0.981 t=292 P~=0.981 t,=220 P=7.2  t,=104
290 WRER B A TR A IR Q=120t/h P=2.3  t=380 P=2.3  t,=240 P=15 t,=158
291 L AR BB T R A IR A E] Q=60t/h P=9.81 t=540 P~=2.3  t,=240 P=15 t,=158
292 WRER B A TR A IR Q=60t/h P=9.81 t=540 P,=5.29 t,=450 P=15 t,=158
293 W ARBR BT R ARAE Q=10t/h P=9.81 t=540 P,=3.82 t,=280 P=15 t,=158
294 L AR Bk B T R A IR E] Q=60t/h P=5.29 t=485 P,=2.45 t,=240 P=7.2  t,=104
295 LR B AT R A R Q=60t/h P=5.29 t=485 P,~=0.3  t,=250 P=7.2  t,=104
296 LR B TR ARAE Q=1t/h P=9.81 t=540 P=1.1-1.6 t,=330-490 P=15 t,=158
297 L AR BR B TR A IR A E] Q=10t/h P=3.82 t=250 P~=1.3  t,=200 P=7.2  t,=104
298 WRER B A TR A IR Q=140t/h P=5.29 t=485 P,=0.981 t,=220 P=7.2  t,=104
299 L AR 77 AT R A IR E] Q=20t/h P=1.3  t=310 P~=0.6  t,=165 P=2.0  t,=30
300 L FAE A A IR F Q=60t/h P=9.81 t=540 P=2.3  t,=370 P=15 t,=150




